avyy—rIJnyoiE (KE)

$=1:30

/000

)

Xigaroy—+
o ck=18N/mm2

o ck=18N/mm2

8

avoy—rIOy oM (KE)
#K 100cmil £

TRt B Lk
300 x 300

Kiki4 T

500

100

RELFIEHIL

HERET

Kiga vy )—+k

$=1:20
1453
avy)—+
::\V/\ o ck=18N/mm2
1 3
MHE 10m%Y
5l % £ B
av9Y—+t | ock=18N/mn2 m 1.4
200 B e — iR A m 1.0
AT m 1.1
300
1463

REIDH Y-

$=1:20
1118
avy)—+k
o ck=18N/mm2
e
&
‘o0,
AT
§=1:20
S
100 EDZ D
o ck=18N/mm2 HE 10mHY
o A B3 R B 45
& vy )=+t | ock=18N/mm2 m . 64
ELC — AR R m 0
g HEEM RC-40 £=200 m 13.18
N\__EHEH (RC-40)
100| 1118 10
1318

15/hALT
$=1:100
1453 43@
avysy—+k
o ck=18N/mm2
s
g
p=3
HHE 1LY
& Al 0% % B2
avoy—+ o ck=18N/mn2 3.40 58
— i 2269 2
e 215 2
25/ AT
$=1:100
1453 jﬂ)‘
avyy—+
o ck=18N/mm2
A
s s
3 3
2203
HHE @RS Y
i 3 RO 8 8
avyy—+ o ck=18N/mm2 41 3
— R 1371 2
k(253200 252 2

$=1:20

7 REBEBHETRIY)

|
v
ﬁ % 88 (1-30)

100 _50

UBS 5%
55120
400
MEavsU—+ 0 300

0 ck=18N/mn2 PU1-300

\ B300 x H300
s
gl 8

g

100
B

100 300 100
500

MHE 10m&% Y

A BB % B
PU-300 B300 x H300 16.5 @
HELSIL 1:3 009 3
® B RC-40, t=100mm 500 2
CEEPZUESN 0 ck=18N/mm2 0.33 p3

H—FL—IHE - BRE

$=1:20
=)
8 A—Fr—n
Gr-C-4E SE4£#
g =
HHE 10m24 Y
& 3l R # B
H—KL— Gr-C-4E S64£# 10.0 p
3] METR T
*ﬁ IXES 170
gz |TH BBOISH GRXEEEIS
SR E R (FiREEL)
&4 ® o
HEARR SH5ESA
s R B R | HEES 3/3
244
BEEE = R bl




